SN =XFY
Ho: BOD|EMBET(MEIZX /I ZMS )
ool HASSIIZNBDE (Sr9): 1)
A - 3 - SR(ZH) - MRANY - BES Ol &FoH JIEN HwsZ
SN 45,069,401 47,001,317 £2,021,916
2 28,972,497 29,736,003 AT763,5%
= 357,711 357,711 0
= 3,726,473 4,076, 141 349,668
Al 2,012,720 12,921,372 £908,652
EXPE I T JPIEINETET Sy 25,949,722 25,713,636 236,086
2 23,539, 126 23,350,891 188,235
= 1,596,995 1,556,430 40,565
Al 813,601 806,315 7,286
HASE) ZMEEH 25,949,722 25,713,636 236,086
2 23,539, 126 23,350,891 188,235
= 1,596,995 1,556,430 40,565
Al 813,601 806,315 7,286
HASE Alztel m=Hl 12 15,900 21,000 5,100
301 YPHBFSZ 15,900 21,000 5,100
01 ABIEEE G 15,900 21,000 5,100
OArZtel D=Y| N (TR 412) 15,900 21,000 £5,100
= 27 300,008 * 33 9,900 2,000 £2,100
— s A 300,000 * 202 6,000 9,000 £3,000
DEXLDEMI23N 31,000 36,000 £5,000
301 LBHFES 31,000 36,000 5,000
INEEEEEE 31,000 36,000 5,000
0437 BEE ISHIILI NA(JBTY
Art) A3 31,000,008 31,000 36,000 5,000
(2)4H S0 22,379,499 21,800,000 579,499
2 20, 141,548 19,620,000 501,548
= 1,566,565 1,526,000 40,565
Al 671,386 654,000 17,386
301 YPHBFZ 22,379,499 21,800,000 579,499
2 20, 141,548 19,620,000 501,548
= 1,566,565 1,526,000 40,565
Al 671,386 654,000 17,386
01 ABIEEH G 22,379,499 21,800,000 579,499
OMIIZ0(ZJLYE AS)
A 22,379,499,0002 22,379,499 21,800,000 579,499
2 20, 141,548 19,620,000 521,548
= 1,566,565 1,526,000 40,565
Al 671,386 654,000 17,386
(2)2zol 121,300 106,300 15,000
2 121,300 106,300 15,000
301 YPHBHZ 121,300 106,300 15,000
2 121,300 106,300 15,000
01 ABIEZH A5 121,300 106,300 15,000
OF2UR 20l XA(B5H)
273 121,300,002 121,300 106,300 15,000




2A:
I‘liH:
Che|:

S - B S9(3IH) - ARAY - BES 0 et plE<El HlRE2
‘ = 121,300 106,300 15,000
(A2 SEAE2] X 20,000 20,000 0
= 10,000 10,000 0
= 3,000 3,000 0
Al 7,000 7,000 0
201 LEL2 | 13,000 11,000 2,000
= 6,500 5,500 1,000
= 1,950 1,650 300
Al 4,550 3,850 700
01 At22teld| 13,000 11,000 2,000

OAtIZeIAY 2ZHI(U=SZH: eIl
WEHI"0IA) Z& 13,000,000& 13,000 11,000 2,000
= 6,500 5,500 1,000
= 1,950 1,650 300
Al 4,550 3,850 700
307 BI2+0I& 1,000 3,000 22,000
= 500 1,500 A1,000
= 150 450 A300
Al 350 1,050 AT700
12 QIZHRIRIE = H| 1,000 3,000 22,000
OSgAlZelAl nSH(ASZH " AIR2H]"'2)

Z& 1,000,000 1,000 3,000 22,000
= 500 1,500 A1,000
= 150 450 A300
Al 350 1,050 AT00

(DDHASS SHAl 2SHERRS 2,917,214 3,265,527 A348,313

= 2,917,214 3,265,527 A348,313

101 @1244| 22,644 40,418 N7, 774

= 22,644 40,418 N7, 774

04 I H22NSES 22,644 40,418 A7,774
OMASE Al LSS XASAY Q12|

3 22,644,000& 22,644 40,418 AI7,774

= 22,644 40,418 A7,774

201 LEr2 2| 2,610 22,167 A19,557

= 2,610 22,167 A19,557

01 At22teld| 2,610 22,167 219,557
ONASE BHAl ASMBXAZAY 2

2 2,610,000& 2,610 22,167 A19,557

= 2,610 22,167 A19,557

301 LEIBES 2,891,960 3,202,942 A310,982

= 2,891,960 3,202,942 A310,982

01 AIBIEEE 612 2,891,960 3,202,942 A310,982
OMASE BAl 2USMERES

Z2& 2,891,960,000& 2,891,960 3,202,942 /310,982

= 2,891,960 3,202,942 A310,982

FHAANES K2 (AMS=SX/FHLAHSKIR) 9,773,158 11,935,239 22,162,081

= 3,526,661 4,468,927 A942,266




S A

SXEE

Mz FAHE KNS (ASIEX/FHAHESKH)
o FHUAHSKA CERE)
2N - F2 - H2A(ZH) - HI2AY - HES 0ff Ao J| &M Hlus2
s 270,400 270,400 0
== 1,417,818 1,807,725 A389,907
Al 4,558,279 5,388, 187 A\829,908
FAHSKA 9,773,158 11,935,239 2,162,081
= 3,526,661 4,468,927 N942,266
Fas 270,400 270,400 0
== 1,417,818 1,807,725 A389,907
Al 4,558,279 5,388, 187 A\829,908
FAUHSKA 186,680 193,420 AB,740
201 LBH2AH| 6,980 8,460 A 1,480
01 Ar22t2ldl 2,920 3,300 A380
O Z2 AlD!I AARSZ A S (0aE2
A3 620,000 620 700 A80
OHMI4D| XIEAMIIBEESAM ASE M (SN
A2 433 2,200,000& 2,200 2,500 A300
02 S=234| 4,060 5,160 A1,100
OLANESA NS (AN A2
Z3 1,000,000 1,000 1,800 A800
OYAIES A AIEEH|l SXIHI(RISEH A2
23 900,000 900 1,200 A300
307 2I2H01 A 23,700 28,960 5,260
01 2 2L =H| 23,700 28,960 N5,260
O RS (THEH A A3 700,000 700 1,920 A1,220
O8iAX HIBUHEE QS| (YR A2
23 500,000 500 2,000 21,500
O AFZ XL ZHIBI( TS RH AF2Y)
33 4,000,000 4,000 5,000 A 1,000
O2ANESA S (TSHEH A2t
A3 500,000 & 500 2,040 A1,540
KEAE SXISE 168,556 177,150 A8,5%4
201 LBt23H| 21,861 24,290 A2,429
01 Ar22t2ldl 21,861 24,290 A2,429
OXNSAMIBEHHE AlHZ AM(MAEZ)
43 1,350,000 1,350 1,500 A150
ORI XHASISEAHIE AISAHE CIAH(OIAHEZY)
33 1,350,000 1,350 1,500 A150
OXYGAII 2SN A3 ZHA =S(0AEZ)
a3 15,120,000& 15,120 16,800 21,680
OGFARIZRAMAAS] 3|9 =S HAHEZ)
A3 756,000 756 840 N84
OAEIEX & BZ R3S A HIE(0aE2
) AH 2,205,000 2,205 2,450 A245
OAMIEX EEE L S0 ME(0aE2)
33 1,080,000 1,080 1,200 A120
207 HAPIHE| 43,835 50,000 NG, 165




S A

X ZH -
o= -

SXEE

=

o FHUAHSKA CERE)
2N - F2 - H2A(ZH) - HI2AY - HES 0ff Ao J| &M Hlus2
01 HE4H| 43,835 50,000 B, 165
OHMI5I| NEAS BEHE 28 (2023EH~2026H )
(DB Eron A2t 38 43,835,000 43,835 50,000 N6, 165
(2)213=X 680,000 630,000 50,000
= 544,000 504,000 40,000
< 40,800 37,800 3,000
Al 95,200 88,200 7,000
301 LEBEZ 680,000 630,000 50,000
= 544,000 504,000 40,000
== 40,800 37,800 3,000
Al 95,200 88,200 7,000
01 A3 B E& 252 680,000 630,000 50,000
O2I3=X XI2AY A3 680,000,000 680,000 630,000 50,000
= 544,000 504,000 40,000
< 40,800 37,800 3,000
Al 95,200 88,200 7,000
KNSAS &E 3R 1,197 1,330 A133
301 YEtEAZ 1,197 1,330 A133
09 SHAIAHIXIR S 1,197 1,330 A133
OMER2t DLIECH siAF 24 oI (0IaHE2Y
33 567,000& 567 630 AB3
OMEZ2Z 2LIEHS 3| XA(oaE2)
A3 630,000 630 700 AT0
22X 20N SR LIAQIAHH| XIS (XM EAIY) 677,659 885,025 A207,366
301 LEBAEZ 677,659 885,025 A207,366
08 AISISRRABAZS 677,659 885,025 A207,366
OEXN 20N ERLAZ 0 XIS (TeHEH A2
338 677,659,000 677,659 885,025 N207,366
(=)2=2LH9 MEX|2H] XA 5,695,350 7,659,882 A 1,964,532
= 2,847,675 3,829,941 A\082, 266
== 1,176,309 1,569,216 A392,907
Al 1,671,366 2,260,725 AB589,359
301 LEEEZ 5,695,350 7,659,882 1,964,532
= 2,847,675 3,829,941 N982, 266
< 1,176,309 1,569,216 A392,907
Al 1,671,366 2,260,725 589,359
01 A8 2&EH 52 5,695,350 7,659,882 A 1,964,532
ODZ2LHO MEX|RH| XIS (DSHAH A2
33 5,695,350,000& 5,695,350 7,659,882 1,964,532
= 2,847,675 3,829,941 N982,266
== 1,176,309 1,569,216 A392,907
Al 1,671,366 2,260,725 589,359
DZLHY9 XDOtE2IRE KR AN 206,284 231,000 A24,716
307 212H01 A 206,284 231,000 A24,716
01 el2L&H| 206,284 231,000 N24,716




SN =XFY
BE: HOS KR (ABI=RI/HAHSKIR)
Sl HOHS K (crel: 2ig)
SN - 3 - SRA(SIH) - MRAY - BES Oll &+t JIEN HwE2
OZELio TPRiEit SEE WX Ne(Eae
At2) 2 206,284,000 206,284 231,000 A24,716
MASE MY XIA(AMIISK/IIZHERE) 2,322,939 2,335,822 A12,883
= 1,859,935 1,869,500 9,565
s 87,311 87,311 0
= 89,808 %, 154 £326
Al 285,865 288,857 22,992
PNE=IN3] 2,322,939 2,335,822 A12,883
= 1,859,935 1,869,500 A9,565
s 87,311 87,311 0
= 89,828 90,154 A326
Al 285,865 288,857 N2,992
NEEENTS 9,600 1,860 £2,260
201 Yer2 | 9,600 1,050 A1,450
01 AtS-2teld] 9,600 11,050 A1,450
OYETSME ALRA UTH 04E)
2 & 800,000& » 128 9,600 10,560 2960
OR-EIITEOIR I +SH(SBY A1)
38 03 0 490 2490
301 LEIBHS 0 810 A810
09 SAIAHIXIAZ 0 810 A810
OTIEIY A&l 028 A
323 03 0 810 2810
(XL THEHEH2S 314,522 314,322 200
= 199, 165 199,025 140
= 25,607 25,589 18
Al 89,750 89,708 42
307 2120 & 314,522 314,322 200
= 199, 165 199,025 140
= 25,607 25,589 18
Al 89,750 89,708 22
10 A2 XAIEEHE2IHIE X 314,522 314,322 200
OXGXteHE 28 K& Z2& 314,522,000 314,522 314,322 200
= 199, 165 199,025 140
= 25,607 25,589 18
Al 89,750 89,708 2
(2)22sAU=LINALLSUA(BAHLHSH 3 48,000 14,907 33,003
(XH&S1015H)
= 41,856 12,999 28,857
= 1,824 572 1,252
Al 4,320 1,336 2,984
307 SI2t0I& 48,000 14,907 33,093
= 41,856 12,999 28,857
= 1,824 572 1,252
Al 4,320 1,33 2,984
05 BI”IRAEZ 48,000 14,907 33,093




SN SXEHD
BE: HASE MEOE NA(ASISK/IIZLESE)
SAIA
=

Sl KHEAL (Sl &3)
A - M- H2A3H) - NRAY - BES Ofl koK A sz
OFFLHL M S HIBH (X015
ZE 48,000,000 48,000 14,907 33,093
= 41,856 12,999 28,857
= 1,824 572 1,252
Al 4,320 1,336 2,984
(B)2zsHUETSNAL SN (FHHLTSAH) 52,000 95,916 143,916
(RhatlZ=nt)
= 45,604 84,166 38,562
= 1,924 3.520 A1,5%
Al 4,472 8,230 A3,758
307 2I2H0IA 52,000 95,916 ~43,916
= 45,604 84,166 38,562
= 1,924 3,520 1,59
Al 4,472 8,230 A3,758
05 BIRIRIEt 52,000 95,916 ~43,916
OFHHLTZHEH &I Z D)
Z& 52,000,0002 52,000 95,916 43,916
= 45,604 84,166 38,562
= 1,924 3,520 A1,5%
Al 4,472 8,230 A3,758
SHEE 2A2U(AE=X/28) 3,143,909 3,359,389 215,480
= 607,800 607,800 0
Al 2,536,109 2,751,589 215,480
BEAHX A 3,143,909 3,359,389 215,480
< 607,800 607,800 0
Al 2,536,109 2,751,589 215,480
SECH & Algael 619,909 684, 189 64,280
201 Ler2d| 59,663 77,640 A17,977
01 AtR2teltl 30,070 38,700 /8,630
OS2 A4 AXE XA (0AEY)
ZE 15,000,000 15,000 16,800 1,800
OUgra=st J1E32 ol HAH RIZH (BT
A2) 23 500,0002 500 5,000 4,500
OSZAL RX A2BHI(0AEZY)
ZE 450,0002 450 500 N0
OFHFSA AT M (oarEZ)
2E 3,960,000 3,960 4,400 A440
OBSANEL(S5EE) =5 FHI(0laE)
Z& 7,010,000 7,010 8,000 A0
OSSN (EEE) otz SX2(HAED)
2F 3,150,000 3,150 4,000 N850
03 SAHZ | 23,153 32,500 9,347
Oslse =EAAH0IAE)
2E 13,840,000 13,840 16,000 A2,160
OZEE AW SetAl(olAEZ)
2F 89,0002 895 1,000 A105
06.25 SAH Ol AHE ) 2F 7,917,800 7,918 15,000 AT7,082




SM: =SXEH
By 2I2E 22 (AE=X/2E)
CHel: SEBKN (Sr9): 1)
S - T S2(3) - HIRAIY - BAS 0 et plE<El HlRE2
301 YPEFZ 56,379 89,850 233,471
09 BAEIXIRS 56,379 89,850 A33,471
OSBESAF 221 &4 OfHI(HIAE)
A 2,502,008 2,502 2,880 ~288
OBEY HA (BT A2)
A 6,298,002 6,208 16,000 £9,702
OBEE AT oA JHI(0ILE)
2 886,0002 886 1,500 ~614
06.25 BAF ZH|(FsTH A2
AT 4,304,002 4,304 10,000 5,606
06.25 ZIIME FAK Z2H 28I(0IA=)
A 1,717,002 1,717 2,500 AT83
O52E0| 2 YK HiH(SS4S)
TIEED A3 9,720,008 9,720 10,800 A1,080
OFYF HAR 2 U 012o/Al H#IDS
(BLREAI)(HAR) B 3,645,000 3,645 4,050 2405
06.25 BHULBN £2 U OHIolAl HEDS
(6.258TRBIE!) (DT Ar2Y)
A3 1,320,002 1,320 9,000 ~7,680
OYZAETOIS ABHTDS(CIAE)
A% 9,720,002 9,720 10,800 ~1,080
OBEMHAT MHX =l(ZE4SH) (0 AE)
A3 9,720,008 9,720 10,800 A1,080
06.25 EE HHRTN FHX| =2(28YU A2
3% 02 2,520 £2,520
OZ=3l AN 22(2SW A2)  AF 02 1,800 21,800
OSYSSII 82 S BAHOIAED)
A3 2,835,002 2,8% 3,150 ~315
OOIS5Z 0l QHEHRI S AH 0142
A 3,621,2802 3,622 4,050 N4
307 2120l & 280,500 288,500 8,000
TREENEEES 28,500 36,500 8,000
OS=XZT L ASIZAS(DYHTL3])
(22 A2 2% 02 0 4,000 24,000
OMO450] & BA(ZSM A1) 2T 0% 0 4,000 £4,000
401 Al&EI LS TH| 220,168 225,000 £4,832
o1 A&t 220, 168 225,000 14,832
OIIRIR AT 20| Fyl(WBTY AL2)
AT 20, 167,40021 20, 168 25,000 £4,832
(S)ERRTLRINEB0+L 1,501,000 1,626,000 A125,000
= 594,000 504,000 0
Al 907,000 1,082,000 A125,000
01 YPEHI 1,501,000 1,626,000 £125,000
= 594,000 504,000 0
Al 907,000 1,082,000 A125,000
01 ABIEEHES 1,501,000 1,626,000 A125,000




SM: =SXEH
By 2I2E 22 (AE=X/2E)
SERNCE STENE! (Er9): &)
S - T S2(3) - HIRAIY - BAS 0 et plE<El HlRE2
OFRFS=N 3022 33 1,381,000,0008 1,381,000 1,494,000 113,000
= 498,000 498,000 0
Al 883,000 996,000 A113,000
OBHRBN ALAZSZ  BF 24,000,008 24,000 36,000 A12,000
SEYSY 769,000 796,200 227,200
301 YBHFES 769,000 796,200 £27,200
EEE e 769,000 796,200 £27,200
O2EYHSY X2 769,000 796,200 £27,200
—PECHAR QOIS (Z BT ALY
2% 759,000,002 759,000 781,200 £22,200
—SEATH ASRIRS(DSTY A2
23 10,000,0002! 10,000 15,000 5,000
AEH BESBI X S+ 208,000 207,000 1,000
301 YBHFES 208,000 207,000 1,000
01 AEIZEE453 208,000 207,000 1,000
OAYEH BHSTI S =Xag 208,000 207,000 1,000
—BHSR =Xag A 193,000,002 193,000 192,000 1,000
HH2YBLI(SNZED) (JIEHIIE 278,262 289,748 A11,486
= 46,775 46,775 0
= 14,082 14,032 0
Al 217,485 228,941 A11,486
o=l 104,570 116,056 A11,486
o= 104,570 116,056 A11,486
201 Er2H| 24,206 26,89% £2,690
01 AFR22IH] 24,206 26,8% 22,690
O=ASX 2YI(0I4E)
A3 3,032,008 3,082 4,032 A1,000
OARD 24t 7,530 9,220 £1,690
—ZADI(OHE) *2I(0arE)
23 1,000,002 1,000 1,500 A500
—ZAD| EL(MIAEZ) 3 1,000,002 1,000 1,500 A500
—DRIED|(SH) EU(0E)
A3 3,310,002 3,310 4,000 £6%0
202 01t 74,844 83,160 £8,316
ENE] 74,844 83,160 8,316
OBLHOIHI (I A=) AT 54,432,002 54,432 60,480 £6,048
OB/ 01H] (0l A=) AT 20,412,002 20,412 22,680 £2,268
203 QREFIH| 4,320 4,800 A480
eI 4,320 4,800 A480
ORASYSRETHI(04E)
AT 4,320,002 4,320 4,800 2480
HRES(SXZD) (AE=X /)| ZNEER) 3,601,411 3,457,483 143,928




: Exlxﬁi_‘j_r
2! IHDR%(EII A (MISX /D ZHESEE)

FSPNES (e A )
2A -3 - H2(3H) - HEAY - BES eH J|EH Hws
FSINES 1,304,481 1,160,553 143,928
EFSINES 1,304,481 1,160,553 143,928

802 Btet=2D|E 1,304,481 1,160,553 143,928

01 2NEX3BHE= 1,081,711 940,444 141,267

Q2018 = 860,933 719,666 141,267

—MEom 8ol XA (shl)

2,481,500 » 14! 2,482 0 2,482
—XE2Z A (228X

26,794,640 » 14l 26,795 26,795
—XHEEA2 1,194,4102 * 14l 1,195 1,195
— K22 AL (AIEE ABIMHIAS)

5,194,350 » 14! 5,195 0 5,19
— X222 A (AIZTIUS, ASIAHIAE)(

Ol XH) 403,020 = 14l 404 0 404
— X X2 HIE 64,1402 * 14l 65 0 65
— XIS XHEHEIE (OIKE) 71,3302 % 14l 72 0 72
—23=X XA 12,800,310 » 14! 12,801 0 12,801
—2X20rAlE| 2R 2101214 X

91,019,700 14! 91,020 0 91,020
—FANHS S20121 OtAT XA
2,040 * 14 3 0 3
—FHE S=20124 0AT KA (OIXH)
20,1602 * 14l 21 0 21

—SAIAHIRIA AFY 975, 1402 * 14l 976 0 976
—SHAIMHIRIS AFH(OIXE) 237,670 * 14 238 0 238

02 Al - SHIBXZEHE3 222,770 220,109 2,661

O s 215,439 212,778 2,661
—213=X XA 960,020 * 14l %1 0 %61
—NHE2Z AL (22K E)
1,339,730 * 14l 1,340 1,340
—XexH2 60,2202 * 14l 61 61
—XE22AI (MBS, AIRIAEIAE)
258,670 * 14l 259 0 259
—XE2Z AL (AIZTLS, ALSIAHIAS)(0IX})
20,1502 * 14 21 21
— XIS X} &HAIE 8,530 * 14l 9 9
— XIS XHEHEIE] (01 RF) 9,1702 = 14l 10 10




